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1142/Arts
I Year Arts Examination, 2017

MATHEMATICS
Paper-II
(Calculus)

Time : Three Hours
Maximum Marks : 65

PART - A (@Us-31) - [Marks : 20
Answer all questibns (50 words each).
All questions carry equal marks.
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PART - B (@ue-9) [Marks : 25

Answer five questions (250 words each).
Selecting one from each unit: All questions carry equal marks.
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PART - C (@us-w) [Marks : 20

Answer any fwo questions (300 words each).
All questions carry equal marks.
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PART - A
(EvE-)
UNIT - I
(3=TE-1)
1. (i)  Define a pedal equation.
Yl TR @ aftfig S |
(ii) State Roll's theorem.
e WO 1 W el |
UNIT - I
(FTE-11)

(iii) Find the asymptote parallel to axes of the curve
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(iv) Write the formula for radius of curvature of polar

Curves.
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UNIT - III
(3Tg-111)
(v) Write the relation betwéen Beta and Yamma function.
e e T e ey ffed
7 (vi) Define quadrature.

grFrer ! aRfa wifed )
UNIT - IV
(FFE-1V)

(vii) Write the degree and order of the differential equation
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/ dx dx
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(viii ) Define a linear differential equation and write its

standard form. _
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UNIT -V
(FTE-V )
(ix) Solve p*-9p+18=0.
THIHTT p? —9p +18=0 I T MW |
(x) Write the complementary function of the differential
equation (D3 i l)y =4, |
- et Wl (D +1)y=0 1 T FEH R

PART - B
(Evs-=)
CUNIT -1
(3HTE-1)
2. Find the Pedal equation of the Parabola y* =4a(n+1).

oo

Wy = da(n+1) FAREE THIE T RIS |

3. State Lagrange's mean value theorem and find C of the mean

value theorem if

F)=x(x-1)x~2), =0 and b:%
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UNIT - I1

(gTg-11)

’ . (39 39
Find the radius of curvature at the point 5 | on Folium

x*+y° =3axy.

N 39 39 '
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Trace the curve y*(g+x)=x*(a— %)

qE y (a+x) =" (a-x) F FET HRH |
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UNIT - III

(gerT3-111)

Evalaute fxz (a2 —xz)%dx.

Exz(az —xz)%dx 1 HIF I S |

Find the area included between the following curve

xy* =4a*(2a-x) and its asymptote.

e =4a2(2a~}c) qAT SHF ST T kT FI HAHA

T SN |
UNIT -1V
(3=FTE-IV)
2 17} b7
Solve (8 &IfS) - y—xl=x+yl.

dx dx

9. Solve (3& ifsA) : (chy—2xy)a?x—(x3 -—3x2y)dy=0,
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UNIT -V
(3FT3-V)

10. Solve (¥ HIfS3) : y=2xp+ayp’=0.
11. Solve (84 Fifs)

(D*+20° -3D%)y=x*+3¢* +4sinx

PART - C

[ , (mus-u)
b UNIT - I
(goT3-1)

12. For the curve r™ = g" cosm 0 prove that

EED r;"=a'"cosm8 %W%Wﬁ'

ds a" et
(a) 20 = q(sec mB)

2

b > —Z’—’% +mr*" 1 =0
s
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UNIT - II

(get3-11)

13. Find all the asymptotes of the curve :
(y=2x)"(3x+4y)+3(y-2x)(3x+4y)-5=0

T (y-2x) (3x+4y) +3(y-2x)(3x+4y)-5=0 F w:h
AT e RIS |

UNIT - III

(gRTE-101 )

14. Find the whole length of the Astroid / g y/ P bl

o
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UNIT - IV
(g=E-1V)
15, Solve (Be1 =) : (B.xy - 2@;.2)6,{*: + (xz —2ay x) dy=0,
UNIT -V
(3HE-V)

o i a
16. Solve: x~ wl—al—ay x* logx
ax” ax

o3

i s il d 14 dy
Al ek 1 “‘fd“—*yw logx = & it |
ax X
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